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place in the number 24,859,0007?
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The number 26,007,030 would be
read twenty-six million, seven thousand,
thirty.

e A school needed a grant to build a new
state of the art computer center. The
principal estimated the cost would be
about two million dollars. Which
amount of grant money would meet the

The number 13,045,600,577 would
be read thirteen billion, forty-five million,
six thousand, six hundred seventy-seven.

PREVIEW

Please Sign In or Sigh Up to download
the printable version of this worksheet

might be the actual number of pennies?

A 1,578,580
B 1,050,298

C 2,549,307
D 5,390,470

actual count? ‘

A 1,100,590,000,000 € 1,495,600
B 100,500,000 D 1,195,500,000

e The number 13,050,400,050 would be
read thirteen billion, fifty, million, four
hundred thousand, fifty.

True or false?

The number 54,555,480,739 is greater
than the number 32,456,700,000,000.

True or false?

A true
B false
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